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NOTE:
o Fuar glaRad w1 & 58 9ot o7 A 16 Yvo qAT30 9 Hfed 2

Please make sure that the question paper consists 16 pages and 30 questions printed in it.
o U T H &$ 3R YU T IS HeX T O @RI 3t IR & Tgol J5 W for@r S =g

The code number on the right side of question paper should be written by the candidate on the front
page of the answer sheet.

o fRUT WA FT I & ¥ Ug 3THT HHAG T @aAT gEm|
Before answering a question, must write its serial number.

o UH A & H HEI &I Th YT gl |
Attempt all parts of a question together.

AT IR R H Trell Teedl/Toet o BIS|
Don’t leave blank page/pages in your answer book.
o 3R YT & ITARFd 37 g e AT & S| 37T HEaeThaTaR & fod g g s/ a1 7
Eara
Except the answer booklet, no extra sheet will be provided. Write to the point and do not strike the
written answer.
o G 39T AT A 9o UF W AT ford|
Candidates must write their roll numbers on the question paper.
o FUAT YT HT 3 & F Teed I AT X o 6 99t 97 U7 T FEY 8, T0ET F 3N 38 Fo
# Fg o grar TSR A6 Far swem|
Before answering the questions, ensure that you have been supplied the correct and the complete
question paper. No complaint in this regard, will be entertained after examination.

General Instructions:

1 This question paper comprises two Parts — A and B. There are 30 questions
in thequestion paper. All questions are compulsory.
2 Part A is compulsory for all candidates.

3 Part B has two options i.e. (1) Analysis of Financial Statements and (2)
1



Computerized Accounting. You have to attempt only one of the given

options.

4 Question nos. 1 to 10 and 23 — 27 are very short answer type questions carrying
1 mark each.

5. Question nos. 11 - 15and 28 are questions carrying 2 marks each.

6 Question nos. 16 to 20 and 29 are questions carrying 3 markseach.

7 Question nos. 21, 22 and 30 are questions carrying 5 marks each.

8 There is no overall choice. However, an internal choice has been provided in
2 questions of two marks, 2 questions of three marks and all questions of Five
marks.

TIHA A

1. 39 J97 97 H gl 1T & - T 3N & 597 g7 A 30 597 &1 FH ToT
3ifaare &1

2. ST U FH IFHGIRT F felv 3ifaard &1

3. &1 & H g fadeq & 3¥ia (1) fada fQavon @ favevyor
(2) FFRNPT Glhad| 9% 8T a7 fadeql A & Fdel Th &I ol AT
&/

4. o7 F&EIT 1 & 10 3R 23 & 27 dofeqs qo7 8, dcda @& forw 1
3 FERT & 1

5. god F&IT 11 & 15 3N 28 3ifa &g I J 8, 9cd% @ folv 2 37
freiRer &1

6. o7 H&IT 16 & 20 3R 29 &g 30T g9 8, 9cd% @ fow 3 37l fAeiRT
&/

7. o {&IT 21, 22 3R 30 G IR J9T &, cdF & [T 5 3 [FEIRT &1

8. THIT &7 & Fis fadey a1 &1 glellta, & 3id & 2 goaf & Al 3aH & 2
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1.

gogl H 3 grg 3l & Tt gedal H v IaRke fAFHeq gt faar = &/

Part- A
HIT-31
(Accounting for_Partnership firms and Companies)
(Fiel waAt R Fufaar & Qv @)

On 1* January 2020 a partner advanced a loan of ¥ 100000 to the firm. In the absence of agreement interest
on loan on 31% march 2020, will be: 1
(A)Nil (B) X1500 (C)R3000 (D) %6000

1 STy 2020 FI T FBER & A F 31,00,000 7T 70T &Ar Fasia & 31979 & 31 AR
2020 T 3% KUT W AT G

(31T (&) X1500 (&) 23000 (&) 6000

N

P, Q and R are Partners sharing profit in the ratio of 5:4:3. Q Retires and P and R decide to share future of it
equally gaining ratio will be: 1
(A)5:3 (B) 1:1 (C)1:3 (D) 3:1

P, Q dUT R A3ER § ST 5:4:3 & ore7 AT R & | Q ATRILT IJGUT T g 3R P Jar R
HIAST H FATT eIl H T8 AT el T AU oI § | ST-HITT 3reqared grom:

(31)5:3 (&) 1:1 (") 1:3 () 3:1

If, at the time of admission some profit and loss account balance appear in the books it will be transferred
to: 1
(A)Profit and loss adjustment account (B) All partners’ capital account
(©)0Id partners’ capital account (D) Revaluation account

giE AT HFIER & T & A GEIH H -Gl Wi T IS AV § aF 38 EAidRa foham
SITTaT:

(3T)TTH-TT THADST T (&) |l AR & Yot @id A
(TG FEERT & Yot @iy A (&) e @i &




4. Capital accounts always show credit balance. 1

Golt @I gAem Hise AW vefid aa ¢ |

5. On firms’ dissolution what entry will be made on realisation of goodwill which was shown in balance sheet?
1

BH & AT W doig Me # gl 715 ©AfA T ayel W 1 Jiafse i Srwed?

6. What is the excess of credit side over debit side of revaluation account called? 1

qodai«qiehd Grdr & 3¢ 98T W shisc UET &l MUFT  FAT Shgolldl ¢ ?

7. Assertion (A): Admission of partner does not mean dissolution of the firm but dissolution of the old
partnership.

Reason (R) : Admission of partner means reconstitution of partnership so that the old partnership ceases to

exist and a new partnership comes into existence but the firm continues to exist. 1

(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).
(B)Both (A) and (R) are true but (R) is not the correct explanation of statement (A).
(C)Both (A) and (R) are false.

(D)(A) is true but (R) is false.

Assertion (A): TSGR & FAM & 3T B & FATY g1 R el WISIEGRT HT FHAY &
Reason (R) : ATSIGR & 9A2T &l Y WISERT T Yedios ¢ foad foh Qe Agery iedca &
TE @ & 3R vE S WSy AT 7 3 § W B A1 el F |

(37) QT (A) T&T (R) T § 3R (R) HUA (A) T FET STTEAT ¢ |
(&) St (A) TAUT (R) T & W (R) YA (A) T FET AT 7761 ¢ |

() arer (A) 9T (R) 34T & |

(@) (A) T § R (R) 3T |

8. Assertion (A): Issued capital and Subscribed capital are always different
Reason (R) : Subscribed capital is a part of the issued capital, hence it will always be different from the
issued capital. 1

(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of statement (A).
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(C)Both (A) and (R) are false.
(D)(A) is true but (R) is false.

Assertion (A): ﬁﬁﬁaqﬁmqﬁﬁaqﬁmnfﬁmaﬁm
Reason (R) : 9T Golt AT Yol &1 f@eam gicl & 3ra: Ig § WofAd geir @ gaem et
gIam|

(31) ST (A) AT (R) GT & 3R (R) T (A) T Tar TE=AT § |

(@) @& (A) TAT (R) FF 8 W (R) HYU (A) T TEl ITEAT 781 ¢ |
(|) qdl (A) 9T (R) 3189T § |

(@) (A) T & WJ (R) IR |

9. What is the minimum subscription rate as per SEBI guidelines? 1

seBl & faem fadelt & TaR =garaw e & e = g2

10. Zero coupon bonds are issued at no rate of interest. 1
YT HU dies @l ST STl &l g R HAATAT fohar rerm & |
11. What is meant by © Bearer Debenture’? 2

gIgeh OIS & FIT TAIT § ?

12. X and Y invested X 20,000 and X 10,000. interest on capital is allowed @ 6% per annum. profits are shared
in ratio of 2:3. Profits for the year ending 31% march 2015 is ¥ 1500. Show allocation of profits when
partnership deed allow interest on capital and deed is silent on treating interest as charge. 2

X 3R Y& 20,000 31 210,000 T fder foham| ot 9T 6% Ui a¥ 1 &T @ ATl 1 AT Bl
ST 2:3% 3IeqATd H SIel SiTar g1 31 #2015 %I FACT gl aTel a¥ & ToIv @187 1500 B

T T 3aes WU 59 ASERT faele Yol W sdTel T IgATT & § 3R faow sarsr &t
Yok & T H AA W T4 g

OR 3Yar

Mention any two provisions of the partnership act, in the absence of partnership deed.

TEIERY fdel@ & 31T # HeierT FRAAIA & fhedl ol Iaumel H 3eod A



13. The profits of a firm for the last five year were:

Year

2011

2012

2013

2014

2015

Profits

43000

50000

52000

65000

85000

Calculate the value of goodwill on the basis of two years of purchase of weighted average profit, the weights

to be used are:
2011-1,2012-2,2013-3, 2014-4 & 2015-5. 2

oo gt ast & Te BT ol olleT 2T

¥ 2011 2012 2013 2014 2015
ST 43000 50000 52000 65000 85000

IR e st B @l & ar auf & MUR R CIMd & Hed HT A0 A, STANT 6T ST
arel AR &

2011-1, 2012-2, 2013-3, 2014-4 3¥ 2015-5
OR 3TYdaT

Give two circumstances in which sacrificing ratio may be applied.

UHT 2T 2T FATSU TS T 3T o] fahar ST HeveTl & |

14. A, B and C are partner sharing profits in the ratio of 4:3. D is admitted to 2/9 share of profits and brings
300000 as his capital and X 1,00,000 for his share of goodwill. The new profit sharing ratio will be A:B:C:D.
3:2:2:2.
journalise the above arrangement in the books. 2

A B3R C4:3 & IeIuTd H o1 el alel HSIEGR &1 D 1 o & 2/9 BEd # enfder fopan
AT § 3R g 9 Golt & §9 H 300000 AR TAfT & I REF & fIw 21,00,000 el Bl
oTAT TS FTSATHOT 3Te]UTcT A:B:C:D §IIIT 3:2:2:2.

3WIeF TAEAT & AT el H Sotel Glaftear |

15. What will happen if retired or diseased partner’s dues are not settled immediately? 2

I TTHILT FEUT FeT ITel AT FAh AR Pl T AR BT G I gl AT S g
ar &7 gRome gem?

16. A limited forfeited 100 shares of T 100 each issued at a premium of 50% to be paid at the time of allotment
on which first call of ¥ 30 per equity share was not received, final call of X 20 is yet to be made. These
shares were reissued at X 70 per share at X 80 paid up. Pass necessary journal entries. 3
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A TS e & TAY T fhU S arel 50% WMfATH WX SIRT hT 91T 100 % 100 KT
aﬁac—cra?{ﬁmw,ﬁmw%309%%%1?1?@%@%%?@?%%20@
3 Iraar 378l doh A€ T S Bl ST AW AT 70 YT WX W 80 ohell & T Yol SIRY
foram I maEs oo giafsear aiRa &

17. Pass the necessary journal entries at the time of dissolution.
(1) Sushma, a partner was paid remuneration of X 5000 and she was to bear all expenses.
(i)  Vikas, a partner, was paid remuneration of X 10,000 and he was to bear all expenses. Actual expenses
amount to X 18000.
(111)  Realisation expenses amounted to I15000. Out of this X 12000 were to be borne by ‘A’ a partner and
the balance by the firm. 3

Qe & AT EWTF Sl wiafsedr Hi|
(i) Tsh HISER FEAT T 5000 HT IIRATAS fear a2r 3R 38 q3f @I ageT e A

(ii) T TSR AT FI 210,000 T GRS Gam = 3K 38 gl @I agad = )
greafas @< 218000 &1

(iii) TEE ST S TRT 15000 AT FEH F 12000 'T ATHG Teh ARENGR GarT 3R AV A ®A
CART dgel I ST AT

18. Zee Limited took over the following assets and liabilities of business of Usha limited.
Assets: machinery X 1,00,000, furniture X 1,80,000, stock X 20,000.
Liabilities: Creditors T 80,000.
The purchase price was agreed at X 1,08,000. This is to settle by issue of 12% debentures at premium of
20%. Pass necessary journal entries. 3

S fafes o 3w fafdes & cyga & F=faf@a Fufaat 3k SaeRat &1 s w0 o)
Tufer: #7ef=T < 1,00,000, Heiray X 1,80,000, TSI X 20,0001

SoTgIRAT: JegR % 80,0001

Tle Hed 1,08,000 R HgATT gl $TAT fATTaT 20% NIATH T 129% HOT9T S F fovar
ST &1 39T Sietel Ufafsear aikd Fi|

19. P and Q were partners in a firm sharing profits in the ratio of 5:3 on 1.4.2014 they admitted R as a new
partner for 1/8th share in the profits with a guaranteed profit of ¥ 75,000. The new profit sharing ratio
between P and Q Will remain the same but they agreed to bear any deficiency on account of guarantee to R
in the ratio 3:2. The profit of the firm for the year ended 31 march 2015 was % 4,00,000.

Prepare profit and loss appropriation account of P, Q and R for the year ended 31% march 2015. 3
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PR Q,1.4.2014 H 5:3 & 3He[UlcT # o1 Fieel dlell Teh B H AR F, 3eglad 175,000 &

ARER o & WY HATh H 1/8d FER & fIT R&T Teh AT AEGR & &9 & &t fohar| p

3R QF ST FGT AT ASTRIT 3T TET @I Afehad  RAT ARET & HROT 3:2 & IeqaTd A
fore &f ol T gET A & T TeAT §UI 31 AT 2015 P FACT qY & foIT Hay 1 wfmad

% 4,00,000 T|

31 AT 2015 FATCT ¥ & T p, Q 3R R &1 o 3R gIfa gAR™IST @ar AR FHL

OR 3Ydar

Write the difference between fixed capital account and variable capital account.

1S golt @rar 3R gRaderelier geit @ra 7 3R faf@v |

20. Nandan, John and Rosa are partners sharing profit in the ratio of 4:3:2. On 1% April 2016, John gave a notice
to retire from the firm. Nandan and Rosa decided to share future profit equally. The capital accounts of
Nandan and Rosa after all adjustments showed a balance of X 43,000 and X 80500 respectively. This total
amount was to be paid by John was X 95500. This amount was to be paid by Nandan and Rosa in such a way
that their capital becomes proportionate to their new ratio. Past necessary Journal entries in the books of the
firm for the above transaction. Show your working clearly. 3

wicet, Silet 3R AT 4:3:2% I H oTH dlest dTed WSNER §1 1314 2016 F1, SileT o Ha &l
arfAqa gt 1 aifed fam sieet 3R Ao F wfasy & omer A FAT T § WIS A H
fAT foram @l gArSET & a1 dicel 3N U & Yot WAl # sHALT: 43,000 AR X 80500 T
AV fe@rr IAT| SileT GaRT AT T Sl aTell TE ol LA 295500 Y| Tg TR et 3R
VST E@RT 38 Yo ATl I Sl AT foh 3oehl Yol 3eTeh AU 3HeJuTd & HAGIIIC g S’|
3WIFd dfcel & oI B S qEcent # TSl HaTh Soel FATSeAN| AT HRT T & &
fe@ru |

21. A, B and C are partners sharing profits and losses in the ratio of 5:3:2. On 31 march 2015 their balance
sheet was as follows:



Balance Sheet

Laibilities Amount (X) | Assets Amount (%)
Capital: Cash 18000

A 36000 Billa Receivable 14000

B 44000 Stock 44000

C 52000 132000 Debtors 42000
Creditor 64000 Machinery 94000

Bills Payable 32000 Goodwill 20000
General Reserve 14000

232000 232000

They decided to admit D into the partnership on the following terms:

(1) Machinery is to be depreciated by 15%.

(i1) Stock is to be revalued at X 48,000.

(iii)  Outstanding rent is X 1900.

(iv)  Dis to be bring X 6000 as goodwill and sufficient capital for a 2/5th share in the capitals of firm.

Prepare Revaluation account, partner’s capital accounts and balance sheet of the new firm. 5

A, B3R C5:3:2 & U & o187 3R gTfA dieet arel WrieR &1 31 #ART 2015 &1 Sofehr Joid
ofic 58 JR AT

yfa fJagor
IR (X) AT ()
o N — 18000
o ' 14000
A 36000 o1 o m
B 44000 o
¢ 22400 132000 jgggg
AeTER L TARY
64000
T foar 32000 AT 94000
Eara 20000
=T I 14000
232000 232000

3egied AFATof@d dl R DT ABIGRT H AT et &1 Ao fora:

(i) AL T 15% FHeerd AT SATaT gl

(ii) E<Teh T YeTdedTehel 48,000 T T ST &



22.

23.

(iii) IepTAT faRIrAT 1900 1
(iv) D @ ®aT T Yol 3 2/5d GEd & AT Hesmraetr 3N wied Yot & &9 H 26000 o= &
S ®H HT gl I, ASER & Yol Td 3R Joig efie IR &

OR 3 Ydar

What do you understand by sacrifice ratio and gaining ratio? What is the difference between these two?

3T AT AT AT YIS 3eqaTd & 91 FASIA § Se1 alell & &1 HeR g2

AB Ltd invited applications for 100000 equity shares payable as X 2 on application, X 3 on allotment and the
balance on first and final call. Applications were received for 3,00,000 shares and shares were allotted on
pro-rata basis. The excess application money was to be adjusted against allotment only. Ram, a shareholder
who was applied for 3000 shares failed to pay the call money and his share were forfeited and reissue at X 8
per share as fully paid. Pass necessary journal entries in the books of company. 5

AB Taiffics & 100000 8fFadT KT & AT 3Mde AT fhw g, S 3Tdesd W <2, 3dced | X
3 3T ugelr 3R 3IfAH i W AV TR & T & T g9 3,00,000 WRT & fAT AT gred
gU 3R AT T IS IMUR W Imafed fhar sr2r) 3faRed 3mdest TR H1 daer 3de
& favcy gARNTST fohar SIer o1l A, Ueh AITURe, [ 3000 AT & fITw 3f1deeT fonam arm
AT, il HeAl T ST Flad H Aol QT 3R 3T fowd Sfecd X forar A1 3R qoT $arciret
& 7 H 8T WR W R @ SR hAT IAT| el b Geclehl & 3HTGeTh SPeter gfafsear
|

OR 3 Ydar

Write the difference between call in advance and call in arrears.

3 Iraer AR 3ed Jraer | R i@ |

Part—B
HIT-9
(Analysis of Financial statements)

i faavon &1 fFeawor

What is meant by financial statements? 1
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o fQawon & &1 arca g2

24. Financial statements are based upon:
(A) Accounting assumptions (B) Accounting conventions

(C)Personal judgments (D) All of these

i awor 3maRa §:

(31) oI@Ihe] HATIATIT W (F) oI@iehed XU T
(@)cafadera Ao @) (@) &1 99 W
25. In the cash flow statement, dividend receipt is shown under activities.
A3 varg faaxer # arerrer wifcq &l framsit & 3ada fe@rr arar g

26. Assertion (A): Increase in closing stock increases profit.
Reason (R) : Increase in closing stock reduces cost of goods sold.
(A)Both (A) and (R) are true and (R) is the correct explanation of statement (A).
(B)Both (A) and (R) are true but (R) is not the correct explanation of statement (A).

(C)Only (R) is true.
(D)(A) is true but (R) is false.

Assertion (A): 3ifas e & qa(fér T oy ST & |
Reason (R) : 3ifd#r ¥ie # gefer & 99 a0 AT Fr aferd T § |

(37) ST (A) TAT (R) TT & 3R (R) FUT (A) T TET TTEAT § |

(3) St (A) TUT (R) T & TR (R) HUA (A) T FE AT 78T ¢ |
(@) Fad (R) T & |

(&) @t (A) T (R) 38T ¢ |

27. Operating profit = Gross Profit -

TToleT oA = Tehol oTH -
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28. Write the two objectives of preparing financial statements. 2

o [9avor SR & & & 3662 QU |

29. Calculate total assets to debt ratio from the following:

Total Debt X 300000, Shareholder’s fund X 120000, current assets X 150000, working capital T 90000. 3

fArafafad @ o AURT FOT 3qdTd HT 0T -
el HOT X 300000, 3RAURT HIY X 120000, AT, HYTT X 150000, HFRMT Goll T 90000.

OR 3Ydr
What are the limitations of ratio analysis?
3fequrel fagawor & dAT = g 2
30. Prepare a cash flow statement on the basis of the information given in the balance sheet of Liva Ltd. as at

31.03.5015 and 31.03.2014:

Balance Sheet

Particular Note 31.03.2015 | 31.03.2014
no. &) )

I. Equity and Liabilities

(1) Shareholder’s fund

(a) Share capital 210000 180000

(b) Reserve and surplus 1 132000 24000

(2) Non-current Liabilities

(a) Long Term borrowings 150000 150000

(3) Current Liabilities

(a) Trade Payable 75000 27000
Total 567000 381000

I1. Assets

(1) Non-current Assets 294000 252000

(a) Fixed Assets

(1) Tangible Assets 48000 18000
(b) Non-current Investment
(2) Current Assets

(a) Current Investment (Marketable) 54000 60000
(b) inventories 107000 24000
(c) Trade receivables 40000 17500
(d) Cash and Cash Equivalents 24000 9500

Total 567000 381000
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Notes to account:

Note-1
Particulars 2015 X) 2014
Reserve and Surplus
Surplus ( Balance in statement of profit and loss) 132000 | 24000

31.03.5015 3R 31.03.2014 & forar fafAes fir T e & & I8 ATFPRT F 3TUR G AR
garg faaor TR &1

yfa Qavor
fyazoT Note 31.03.2015 | 31.03.2014
no. (X) (X)

I AT 3T SAgIRAr
(1) AITURE HT HIY
(a) I gl 210000 | 180000
(b) Red 31 3RIeNy 132000 24000
(2) I-aTe], AererRAt
(a) drdepIfor IUR 1 150000 150000
(3) TTe, qeTGTRAT
(a) AR ST 75000 27000

567000 381000

Fel

Il. aafar
(1) 3-reg, SRt 294000 252000
(a) 3 Fufaam
(i) FT FafT 48000 18000
(b) dR-=re] foaer
(2) are], |afer
(a) I fAaer (fagore 54000 60000
) 107000 24000
b) T
(¢) ETIR 9T 40000 17500
(d) e 3N Fehe FHICH 24000 9500
Fel 567000 381000

13



g & fav Aea:
sre-1

favoT 2015 (%) | 2014 ()
IRt 3 ey
3y (amar-grfer faazor & 9w)

132000 24000

OR
3ydar

What are the major inflows and outflows of cash flows from investment activities?

foaer afafafeat @ Ashs varg & Y7@ 3 va6 3R SET garg 41 § ?

Part—B
(Computerised Accounting)

23. Give one limitation of Computerised Accounting system. 1

HEGSHd GT YOl T Teh WAT QIS |

24. When extended selection is active, is the keyboard shortcut for selecting all data up to and
including the last row. 1
Sa faraiRa @g= afsg gar g ar $IEIS QTche BT g, JTad diFd dh 3R s

A TT 3eT T IIA el & foIv |

25. In Excel, the chart tools provide three different options , and for
formatting. 1
(A) Layout, Format, Data Maker  (B) Design, Layout, Format

(C) Format, Layout, Label (D) Design, Data Maker, Layout

THAS H, a1E Col BIATCI & foIT et 3refar-31ef91 fashed ) IR

UeTeT aXd &l
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(31) FATF—aTE, T, HPs AR AT
(H) TaeU, ATHaE, e

26. The syntax of PMT Function is

(A) PMT (rate, pv, nper, [{v], [type])
(B) PMT (rate, nper, pv, [fv], [type])
(C) PMT (rate, pv, nper, [type], [fV])
(D) PMT (rate, nper, pv, [type], [fV])

NTHAS BT @1 [Herq gl

(T) Aeaedr (&Y, drdl, Ui, [Thd], [TehR])
(&) NHAE (&, HRNEIHR, e, [Tehdl], [FhR))
(&) NTAE (G, e, TR, [FhR], [Thal])
(31 NTAS (G, TTHISHR, W, [FehR], [T

27. what is the full form of SQL?
(A) structured query language
(B) structured query list

(C) simple query language

(D) None of these

SQLET Pol BIe &7 g2
(37) AT Fad HeT
(&) aXrAd Folr
(&) T FAT T
(@) 18 & HIS G

(&) =T, ATRITH, FG8T
() AT, HThg IR AT, AT

28. Explain the terms Primary key and Secondary key in a database.

3iTehsT IMUR A wraffs Foir 3R gfacdes

29. Differentiate between data and information with

Foll el T FHASST |

the help of an example.

Teh 3CTEUT hl TR & 3HTehs 3R el

& ALY AR TIs¢ hIfFT |

OR 3Ydr

Explain the use of ‘Conditional Formatting’.

U TIRIOT & 3YAT T HSSU |
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30.Explain the importance of absolute and relative addresses. Also, give the example of absolute and
relative addresses as they appear in Excel sheet/Spreadsheet.
FFQUT U AIUET Udl & Hged FASSY| THhe /s w gefia geget
3R |MaT gdr & 3erexor & afFT |

OR 3Ydr
Explain the elements used in payroll calculations in an Excel sheet/spreadsheet.

Ao fe/eisdfie & R 0T & g dedl T AT H|
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